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O IHTIEFEHEEIR I,

@O 40 X 2 - 10 X X 2 = 10 X -

@ 30 X 4 -> 10 X X 4 - |0 X -

@ 70 X 5 > |0 X X 5 = |0 X -

@ 200 X 2 - 100 X -

® 300 X 6 —> 100 X -

2 O I2HTIEFEHEESTR IV,

DO 26 X 5 &, 20 X ¥ 6 X rEeabhtE 8L
BT,

@ 53 X 4 &, 50 X ¥ 3 X &btk
BT,

® 502 X 3 lZ. 500 X ¥y 2 X e ORI EE
YELTY,

@ 328 X 4 &, 300 X ¥ 20 X et

8 X TEhELEBEELTY,
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O IZHTITFEEEE ST,
40 X 2 = 10 X |4 | X 2 = 10
30 X 4 - |0 X|3| X 4 - 10
70 X 5 > |10 X|7| X 5 = 10
200 X 2 = 100 X | 4 400
300 X 6 - 100 X |18 1800
O IZHTTFEEEE IR T,
26 X 5 . 20 X | 5 6 X
B LCTY,
53 X 4 (%, 50 X | 4 3 X
BLCTY,
502 X 3 I, 500 X | 3 y 2 X
YELTY,
328 X 4 (%, 300 X | 4 ¥y 20 X
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